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	 1.	 ;fn 4003250 = 4 × 10x + 3 × 10y + 2 × 10z 
+ 5 × 10w, gS] rks x + y + z + w cjkcj gSµ

		  If 4003250 = 4 × 10x + 3 × 10y + 2 × 10z 
+ 5 × 10w then  x + y + z + w is equal to : 

		  (A)	 16	 (B)	 14
		  (C)	 12	 (D)	10

[C-TET 6-8 (29-12-2021)]

	 2.	 pkj vadksa dh ,d la[;k 4ba5, la[;k 55 ls 
foHkkT; gSA rc] (a – b) dk eku gSµ

		  A four digit number 4ba5 is divisible by 
55, then, the value of (a – b) is :

		  (A)	 3	 (B)	 2
		  (C)	 1	 (D)	0

[C-TET 6-8 (21-12-2021)]

	 3.	 ;fn A, B vkSj  C vad gSa rFkk]
		  If A, B and C are digits and
			   3 A B
		      +  A B 1
			   C 1 8
		  gS] rks C dk eku gSµ
		  then, value of C is :
		  (A)	 6	 (B)	 7
		  (C)	 8	 (D)	9

[C-TET 6-8 (06-01-2022)]

	 4.	 vadksa 0, 2, 5 vkSj 6 ds mi;ksx ls] fcuk vadksa 
dh iqujko`fÙk ds] rhu vadksa dh cukbZ tk ldus 
okyh lcls cM+h vkSj lcls NksVh la[;kvksa dk 
varj D;k gksxk\

		  What is the difference between the 
greatest and smallest three digit numbers 
that can be formed using the digits 0,2, 5 
and 6 without repetitions?

		  (A)	 446	 (B)	 537
		  (C)	 447	 (D)	400

[dsUæh; f'k{kd ik=rk (6 to 8)  
ijh{kk frfFk % 03-01-2022]

	 5.	 fuEufyf[kr eas ls dkSu&lh la[;k 11 ls foHkkT; 
ugha gS \

		  Which of the following numbers is not 
divisible by 11 ?

		  (A)	 222222	 (B)	 333333
		  (C)	 10111013	 (D)	10011013

[dsUæh; f'k{kd ik=rk (6 to 8)  
ijh{kk frfFk % 07-01-2022]

	 6.	 ;fn A, B vkSj C vad gSa rFkk

		  If A, B and C are digits and 
				    AB
				    ×3
				    CAB
		  gSa rks A vkSj C ds eku gSaA

		  then values of A and C are :
		  (A)	 A = 2, C = 1	 (B)	 A = 3, C = 1
		  (C)	 A = 4, C = 1	 (D)	A = 5, C = 1

[dsUæh; f'k{kd ik=rk (6 to 8)  
ijh{kk frfFk % 07-01-2022]

	 7.	 A, B vkSj C fofHkUu vadksa dks bl izdkj O;Dr 
djrs gSa fd B ,d vHkkT; la[;k ugha gSA ;fn 
AB × 5 = CAB gS] rks A + C = @A, B and 
C stand for different digits such that B is 
not a prime number. If AB × 5 = C A B, 
then A + C =

		  (A)	 7	 (B)	 5
		  (C)	 3	 (D)	2

[dsUæh; f'k{kd ik=rk (6 to 8)  
ijh{kk frfFk % 23-12-2021]

	 8.	 ml dFku dh igpku dhft,] tks lR; ugha gaS@
Identity the statement which is NOT true,

		  (A)	 nks ifjes; la[;kvkas ds chp ea vifjfer 
:i ls vusd ifjes; la[;k,¡ gksrh gSa@
Between any two rational numbers, 
there are infinitely many rational 
numbers.

	 	 (B)	 ,d èkukRed ifjes; la[;k rFkk ,d 
½.kkRed ifjes; la[;k ds chp es a 
lnSo ,d iw.kZ la[;k gksrh gS@Between 
a positive rational number and a 
negative rational number, there is 
alwyas a whole number.

		  (C)	 izR;sd 'kwU;srj ifjes; la[;k dk ,d 
xq.kukRed izfrykse gksrk gS@Every non-
zero rational number has a multiplic 
active inverse.

	 	 (D)	 ,slh nks ifjes; la[;kvksa ds ,d ;qXe dk 
vfLrRo gS ftuds chp esa dsoy ,d gh 
ifjes; la[;k gksrh gS@There exist a pair 
of rational numbers such that there 
is only one rational number between 
then.

[dsUæh; f'k{kd ik=rk (6 to 8)  
ijh{kk frfFk % 23-12-2022]

	 9.	 fuEu eas ls dkSu&lh la[;k 6 ls foHkkftr 
gS\@Which of the following numbers is 

divisible by 6 ?
		  (A)	 53636	 (B)	 46356
		  (C)	 46358	 (D)	43538

[dsUæh; f'k{kd ik=rk (6 to 8)  
ijh{kk frfFk % 23-12-2021]

	 10.	 ;fn 8-vadh; la[;k 179x 091y, 88 ls foHkkT; 
gS] rks (x — y) dk D;k eku gS \

		  If the 8-digit number 179x 091y, is 
divisible by 88, then what is the value of 
(x – y) ?

		  (A)	 3	 (B)	 4

		  (C)	 1	 (D)	 2
CTET 31-01-2021 (VI-VIII)

	 11.	 ;fn 52272 = p2 × q3 × r4,

		  tgk¡ p, q vkSj r vHkkT; la[;k,¡ gS a] rks  
(2p + q — r) dk eku gSµ

		  If 52272 = p2 × q3 × r4, where p, q and 
r are prime numbers, then the value of  
(2p + q – r) is :

		  (A)	 22	 (B)	 23

		  (C)	 29	 (D)	21
CTET 07-07-2019 (VI-VIII)

	 12.	 ge fdlh la[;k dks lEiw.kZ la[;k dgrs gSa ;fn 
;g la[;k blds lHkh /kukRed xq.ku[k.Mksaa ds 
(la[;k dks NksM+dj) ;ksx ds cjkcj gksA 

		  mnkgj.kr;k 28 ,d lEiw.kZ la[;k gS] D;ksafd
		  28 = 1 + 2 + 4 + 7 + 14 gSA 
		  fuEu esa ls dkSu&lh la[;k lEiw.kZ la[;k gS\
		  We call a number perfect if it is the sum of 

all its positive divisors, except itself. For 
example, 28 is a perfect number because 
28 = 1 + 2 + 4 + 7 + 14. Which of the 
following numbers is a perfect number ?

		  (A)	 13	 (B)	 10
		  (C)	 9	 (D)	 6

CTET 15-02-2014 (VI-VIII)

	 13.	 210 — 1 fuEu ls foHkkT; gSµ
		   210 – 1 is divisible by :

		  (A)	 3	 (B)	 4

		  (C)	 10	 (D)	 2

CTET 18-11-2012 (VI-VIII)

O;k[;kRed gy
	 1.	 (C)	4003250 = 4 × 10x + 3 × 10y + 2 
			                        × 10z + 5 × 10w	   ...(i)
		  4, 3, 2 vkSj 5 ds LFkkuh; eku fy[kus ij]
			   4 dk LFkkuh; eku 

la[;k i¼fr
(Number System)

v/;k;

1
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				    = 4000000 vFkok 4 × 106

			   3 dk LFkkuh; eku 
				    = 3000 vFkok 3 × 103

			   2 dk LFkkuh; eku = 200 vFkok 2 × 102

			   5 dk LFkkuh; eku = 50 vFkok 5 × 101

			   vr% 4003250 dks fuEuor~ rjhds ls O;Dr 
dj ldrs gSaA

			   = 4 × 106 + 3 × 103 + 2 × 102 
				    + 5 × 101	 ...(ii)
			   leh- (ii) dks leh-(i) ls rqyuk djus ij]
				    x	= 6
				    y	= 3
				    z	= 2
				    w	= 1
			   \	 x + y + z + w = 6 + 3 + 2 + 1 = 12.

	 2.	 (C)	55 = 5 × 11 ;kfu la[;k 5 o 11 nksuksa ls 
foHkkT; gSA

			   5 dh foHkkftrk dk fu;e = vfUre nks 
la[;k 5 ls foHkkftr gSaA

			        a = 2 j[kus ij]
			   11 dh foHkkftrk dk fu;e = 4b25
				    4 + 2 – (b + 5)	= 0
				    6 – (b + 5)	= 0
				    1 – b	= 0
				    1	= b
				   (a – b) = (2 – 1)	= 1

	 3.	 (C)	 3
1

  A  B = 7
			   A B  1
			   C 1   8
			   B = 7
			   A = 4
			   C = 8
	 4.	 (C)	 vadksa 0, 2, 5, 6 lsµ

				   lcls cM+h la[;k	  =	652
			   lcls NksVh la[;k  = 205
			   vr%       vUrj  = 447

	 5.	 (D)	 11 dh foHkkT;rk dk fu;eµ;fn nh x;h 
la[;k ds le LFkkuksa ds vadksa dk ;ksx vkSj 
fo"ke LFkkuksa ds vadksa ds ;ksX; dk vUrj 
0 ;k 11 ls foHkkftr gksuk pkfg,A

			   fodYi (A) ls] 222222
			   le LFkkuksa ds vadksa dk ;ksx
						    =	 2 + 2 + 2 = 6
			   fo"ke LFkkuksa ds vadksa dk ;ksx
						    =	 2 + 2 + 2 = 6
			   vHkh"V vUrj = 6 – 6 = 0
			   vr% la[;k 11 ls foHkkftr gSA
			   fodYi (B) ls] 333333
			   le LFkkuksa ds vadksa dk ;ksx
						    =	 3 + 3 + 3 = 9
			   fo"ke LFkkuksa ds vadksa dk ;ksx
						    =	 3 + 3 + 3 = 9
			   vHkh"V vUrj = 9 – 9 = 0
			   vr% la[;k 333333, 11 ls foHkkftr gSA

			   fodYi (C) ls] 10111013
			   le LFkkuksa ds vadksa dk ;ksx
						    =	 0 + 1 + 0 + 3 = 4
			   fo"ke LFkkuksa ds vadksa dk ;ksx
						    =	 1 + 1 + 1 + 1 = 4
			   vHkh"V vUrj = 4 – 4 = 0
			   vr% la[;k 10111013, 11 ls foHkkftr 

gSA
			   fodYi (D) ls] 10011013
			   le LFkkuksa ds vadksa dk ;ksx
						    =	 0 + 1 + 0 + 3 = 4
			   fo"ke LFkkukas ds vadksa dk ;ksx
						    =	 1 + 0 + 1 + 1 = 3
			   vHkh"V vUrj = 4 – 3 = 1
			   vr% la[;k 10011013, 11 ls foHkkftr 

ugha gSA
	 6.	 (D)			   A 	 B
					     ×	 3
				    C	 A 	 B
			   fodYi (D) ls] A = 5, C = 1
		  			   5 	 B
					     ×	 3
				    1	 5 	 B
				   vr% fodYi (D) lgh gSA
	 7.	 (A)			   A	 B
					     ×	 5
				    C	 A	 B
			   B vHkkT; la[;k ugha gS] rks
		  			   5	 0
					     ×	 5
				    2	 5	 0
			   vr%	 A = 5,	 B = 0,	 C = 2
				    A + C	=	 5 + 2
					    =	 7
	 8.	 (D)	 nks ifjes; la[;kvksa ds ;qXe ds chp esa 

,d ifjes; la[;k gksrh gS ;g dFku lR; 
ugha gSA pw¡fd buds e/; vuUr ifjes; 
la[;k,¡ gksrh gSaA

			   vr% fodYi (D) lgh gSA

	 9.	 (B)	 6 ls foHkkT;rk dk fu;eµ;fn dksbZ 
la[;k 2 vkSj 3 nksuksa ls foHkkftr gS rks 
og la[;k 6 ls Hkh foHkkftr gksxhA

			   la[;k 46356 eas vfUre vad 6 gS tks 2 
ls foHkkftr gS rks la[;k 46356, 2 ls 
foHkkftr gksxhA

			   la[;k 46356 ds vadksa dk ;ksx = 4 + 6 
+ 3 + 5 + 6 = 24 gS tks 3 ls foHkkftr 
gS rks la[;k 46356, 3 ls foHkkftr gksxhA 
la[;k 46356, 2 vkSj 3 nksuksa ls foHkkftr 
gS rks 6 ls Hkh foHkkftr gksxhA

	 10. 	(D)	 ∵ 179x 091y, 88 ls foHkkT; gSa rc ;g 

8 rFkk 11 ls Hkh foHkkT; gksxhA

			   8 ls foHkkT; gksus ds fy,] 

			   ;fn vafre 3 vad] 8 ls foHkkT; gS rc 
nh xbZ la[;k Hkh 8 ls foHkkftr gksxhA

			   rc]	 y	= 2

			   11 ls foHkkT; gksus ds fy,] 

			   ;fn le LFkkuksa ij fLFkr vadksa dk ;ksx 
rFkk fo"ke LFkkuksa ij vadksa ds ;ksx dk 
vUrj 11 ls foHkkftr gS] rc nh xbZ 
la[;k Hkh 11 ls foHkkftr gksxhA

				   (7 + x + 9 + y) — (1 + 9 + 0 + 1)
					    = 16 + x + y — 11
					    = 5 + x + y 
					    = 5 + x + 2
					    = 7 + x
			   (7 + x) ds 11 ls foHkkftr gksus ds fy, 	

x = 4

			   vr% x – y = 4 — 2 = 2
	 11.	 (B)	 	52272 = p2 × q3 × r4	 ...(1)

			 

2 5 2 2 7 2

2 2 613 6

2 13 0 6 8

2 6 5 3 4

3 3 2 6 7

3 1089

3 363

11 121

11 11

1

		  ∴	 52272 = 24 × 33 × 112	 ...(2)

			   leh- (1) o (2)  ls]
			   p = 11, q = 3, r = 2
		  ∴	 (2p + q — r) dk eku
			   = 2 × 11 + 3 — 2
			   = 22 + 1
			   = 23

	 12.	 (D)	lEiw.kZ la[;k

			   mnkgj.k 	 28 	= 1 + 2 + 4 + 7 + 14

			   mlh izdkj 	 6 	= 1 + 2 + 3

			   tgk¡ 1, 2 rFkk 3, 6 ds /kukRed xq.ku[k.M 
gSaA

			   ⇒	 13	 ≠ 1 + 13
			   ⇒	 10	 ≠ 1 + 2 + 5
			   ⇒	 9	 ≠ 1 + 3

			   vr% 6 ,d lEiw.kZ la[;k gSA
	 13.	 (A)	 210 — 1 = 210 —110

			   tc n = le rc (xn — an), (x + a) ls 
foHkkT; gksrk gSA

			   vr% 210 — 110 , (2 + 1 = 3) ls foHkkT; 
gksxhA

qq
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